Regents Exam Questions A.REI.B.3: Solving Linear Equations 2
Page 3
www.jmap.org




Name: __________________________________



1

If [image: image1.png]2ax—5x=2



, then x is equivalent to

	1)
	[image: image2.png]2+5a
22






	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	[image: image5.png]






2
When solved for x in terms of a, the solution to the equation [image: image6.png]Ix-T=ax+5



 is 

	1)
	[image: image7.png]




	2)
	[image: image8.png]




	3)
	[image: image9.png]da





	4)
	[image: image10.png]






3
When the equation [image: image11.png]b—ax=ax—2



 is solved for x in terms of a, and [image: image12.png]a0



, the result is

	1)
	[image: image13.png]4





	2)
	[image: image14.png]AR





	3)
	[image: image15.png]2a





	4)
	[image: image16.png]RIS







4
If [image: image17.png]ax+3="T-bx



, what is x expressed in terms of a and b?

	1)
	[image: image18.png]ab





	2)
	[image: image19.png]




	3)
	[image: image20.png]




	4)
	[image: image21.png]a+b







5
If  [image: image22.png]


, then x equals

	1)
	a

	2)
	[image: image23.png]




	3)
	[image: image24.png]5a





	4)
	[image: image25.png]






6
If [image: image26.png]3x+ Sa



, then x is equivalent to

	1)
	[image: image27.png]




	2)
	[image: image28.png]




	3)
	[image: image29.png]da





	4)
	[image: image30.png]da







7
When the equation [image: image31.png]


 is solved for x in terms of a, the solution is

	1)
	[image: image32.png]




	2)
	[image: image33.png]a+ 1





	3)
	[image: image34.png]da+1






	4)
	[image: image35.png]2a+ 1







8
Solve the equation below for x in terms of a.

[image: image36.png]Yax+3) - 3ax= 25+ 3a






1
ANS:
3

[image: image37.png]



REF:
010421a

2
ANS:
2

[image: image38.png]



REF:
062422ai

3
ANS:
2

[image: image39.png]



REF:
082420ai

4
ANS:
3

[image: image40.png]ax+3=T-bx
ax+bx=4
Ma+b)=4





REF:
081426ia

5
ANS:
4

[image: image41.png]



REF:
010011a

6
ANS:
4

[image: image42.png]Tx+2a=3x+3
4x=3a
%

P

2




REF:
060513a

7
ANS:
4

[image: image43.png]



REF:
062223ai

8
ANS:


[image: image44.png]dax+12-3ax=125+3a
ax=13+3a

13+3a
)





REF:
081632ai

